JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY, WAKNAGHAT
TEST -3 EXAMINATION-2022
B.Tech-TV Semester (Civil)

COURSE CODE (CREDITS): 18B] ICE513(3) MAX. MARKS: 35
COURSE NAME: Structural Analysis
COURSE IN, STRUCTORS: Mr. Chandra Pal Gautam MAX. TIM;E% Hours

term of angles and displacement provided,

(if) Solve the given frame jn figure -2 by using Slope déf
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Q.3. For the given coly (S)d_tsﬁaving length L, find the critical load of failure, [51[CO - 5
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Q.4 Solve the given beam by using Moment distribution method, [7][CO - 4
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the end moments.

y using Moment distribution method and find
{71 [CO -3 & CO - 5]

Q.5. Solve the given frame b
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